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Day2 Say the tables.

Leamn these:
14 - 10 = 4
15 - 10 = 5
16 - 10 = 6

1. (@) (b) (c) (d) (e)
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4. (o) 16 less 10
(b) 14 subtract 10
(€) 11 less 10
(d) 15 take away 10
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5. Complete, (Subtract.)
@ 11| - [10] =
(b) [14 10| =
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(d) (15 =|5
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Day 3 ﬁg ﬂl-lttlhll:l. i Day 4 Say the tables.
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Learn these:
|7 14} 7 20 - 10 = 10
18 1) il 21 = 10 = 11
19 - 10 = 9 22 - 10 = 12
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1. (a) (b) (c)
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2. v"'urﬂ
(@) 18-10=11
(b 17-10= B8
c) 12-10= 2
. (@ 19-10= 9

2. Fill in the gaps.
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3. (@) 19 - =[ | o=
(b)y 17 - = )
(c) 14 - =; -
d) 18 - =[] 4. Complete.
4. Complete. (Subtroct.) = ],("]}J
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5. Match.

. Fill in the gaps. (@ 21 -10 =~
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